20220928 !

Batsystem MP1000TE - Mounting instructions

w Batsystem AB, Traneredsvagen 112, 426 53 Vastra Frélunda, Tel: 031-69 03 80,

www.batsystem.se, info@batsystem.se

1y
Content: mmm

Innehall: x1
@ M10x110

I s 2==

X6 X6 x2 X2 X2 X6 x10 xG xG
M10x50 M8x50 M10x40 M10x20 M10x15 M10 M10

eRcRoRcRoRolelele

--sc

You will need this:
Detta behdver du:

=4 (ARKER PEN

(570 M6 @25 (325 MlO
@ ® O 0 @ @ 2]
Mounting/Montering:

Seal with sikaflex at the attachments to the hull.
Tata med sikaflex vid infastningarna mot skrovet.




20220928 2
Mounting with two struts /Montering med tva stag:

=—H
0 O

TSN TLTS)

R R e
SZUNSIZUNISE

RUEIET)
SZUNISE

Seal with sikaflex at the attachments to the hull.
Tata med sikaflex vid infastningarna mot skrovet.

Alternativestrut mounting with two fittings in the stem:
Alternativt stagmontage med tva beslag i stdaven:

Seal with sikaflex at the attachments to the hull.
Tata med sikaflex vid infastningarna mot skrovet.



20220928 3

Batsystem MP10000TE - Mounting instructions accessories

/W Batsystem AB, Traneredsvéigen 112, 426 53 Vistra Frolunda, Tel: 031-69 03 80,

www.batsystem.se, info@batsystem.se

B o o oo o o0 o 0

[ooooo O o]

P1074 P1091 e o .
150x25mm  290x30 mm |

’ooo]

alt.

[ooo o‘

d9mmx2



